CoPbLSlt  bll1202¢

@ m€;+ﬂ\c &ﬁln 'W?u/"/-"f’/uf}“'ﬁﬂwr

(2 Woeld Series Proble

@ EJ. ¢ Distence + HSP T

@ T’”CVB'[WE S‘;‘/C'S’ﬂ)cn Dﬂ o Dmuikg Z_cancg ?_

Mecm

Cost (A B)= 4/9«/5‘\(4@& * 8@/5
ABcp = A I(Boo)

A; @ /4' &f) L;/\)/ A( < Z?C/ W')C,"(j’?)c
B+Sx | |

= 3%

D

Y

(48) |(cp)
(AB)| D
ACLI NE A CO, 1,2, .. e (
Sk/ﬁ 67:76)
. (lf""@f:’f’g 7'*'0@% memdskALo0L;
o (ska 2 7 nebvin
~es = /V)A-)C m,QTr')

Cor (m} mid = g/z/f m()deﬂf) =7

reS=min [NS £ (skdt, mJé)Jr
,G(mtf)‘f’ er\c))“f
(,95'} (9&/’7 I’)‘)\J (’"‘)) )

f’ﬂ{u/i"/\ mein O gSfZ!szr\JY 2(‘€§/f

¥




S
P(G'f—é/() CH' noSt 2n-I gore. / 7 Jecm o
N Gones WinS Series onéeé,/,/7 of  <inning
Z 902"‘43 ‘G’ '}'Cam A (S F”

6)(4{/1)) = fo,-ol')ci:/-"/-y O(fZey’ atb S-S Ret {m”_)
/4 hes  won G hrg and Jmm Q
1’)<9 g b #’ HroeQ.

P(-G,b) = J)(G’/,b)*ﬁ 4?(6(‘,2)'!)* (l—p)
7 i T T

0(06 ot A Puob of 8

a-l wA  wig g wh g
b v /R les# bl w i (ast
1n by (v Brgs

e G 1|

Geney Gerne s

Fot Distnce

- G4 | 7[7’“1?#"”‘7

S‘rz/"rfy S"/YVB : bexg(O ? ShA smfja -
@nd  Shig: bedlow T S
Moees &) ned  a chor Ihin - cast

b | & cbeh

) Chepe o l Cfa ~
L C’g ’C( ")J) - ﬁ ’C(F’l)jﬂ) mateh |
= min (B €G-1,5),B€06,5))

=0iTD ’F(\J\)) .:“g(\“’f J"‘() rheteh )
= ( - m«n) ( | + »G(;';)JJ)[«%-F(!}J‘-I)/ ”F(a—-l,j.,)




" X p PN
\/ﬁwé{@g X (f B LF

impd}i 4] o.‘b&gj ﬁzS/ch(g 177‘74/ o/ /cqffg

(9&4(1 S""//} AT at t’)Or-e (9/# /Occ;ﬁoms)

VisH each loceyon €xectly, one and = o,
Ct"lqw,"ﬁ’w ‘(’YQLM’[MS s ﬁ/g}‘,,c( /}QSS'/LQ

Q/@ 9 € 59

2 " /: }
X/ ;/ﬁp/ 6’(/69,4/9,6 (/1’77 ﬁcﬂ‘é)

A

besl gus @(mxm[)

alt peT5
C?/ b/CQ'Ccyéi

% (A Pese 2 pelbe Lere N S D

Some Sef of UerPwl + ended)
ot 12 Sev  ploc

De@w«( -@(C}éc-ﬂ/ 14) = e b visihog
Sche f ?Q,é,c/@ % Qf’lfyﬂvj e _p‘




mon (

£(ohedf d) = 4 (abcf,€)+ L0,
£ (qb«cﬂ%%)w&) (77 "2 ‘Q""‘G)
§ (abefy )1 b3, (g# to 0 b
£ (o,bc-Q Q)+c:,3) (gﬂt b ) Bon )

(%—F o & froa f

&9’75{5 | T

9[9 {l“n]ﬁﬂj
/) MAse SeBSET &
’(;)( (m} mesle =1 -, el ¢ (l“h); 074&//&%) §
/1] lest iles e tee)
Qa[(\,»r j2o jz.y)(/jﬂ,) S

(£ ( <m<<sh X (/4<J'))::® )
(92 nuke
nt  lastameck = mask - (i “J)

reg = (NF2
Nk ¢ et tem 1 laghrrdk
Lor (m+ h';O’/ 2 ) Y /f‘h’*) %

1€ ( ((astamssk 8 (144) )==0)
(.ﬂnﬁfmf;
res=mMin (MS; Jp{qufm;s/ﬁ[/Z]%
| g SkIL -
EP fmash J{ 5 (=Tes,




